wn
tor]

54,

PAPER - 11 (COMMERCE)

; a7
; : syerage ?
=1120, PBT = 320, Fixed cost=700. What is the value of degree of operating leverag

If EBIT
S N £7
AR EBIT = 1120, PBT = 30, firra w1 = 700, e Sefverss i it o1 777 91 3 L
4) 1.625

(1) 3.5 y‘).h (3) 1.25
Arrange the steps of selaefion process from beginning, o énd. i
3 Screening of Application

A Selection Test 5: B

= D. Interview
= Approval by appropriate authority and pIaCt_‘II_I__t'i_le;
T IR % R 9 e R 37 o e 5 o

A T Hie PB. WEEAH S
C  siifoe qdtey £ _ D.  HEeER

E. 9090 Wl 9 sreie e s

Choose the correct answer from the options given below :

. a3 —~ . .
Physical Examination

ﬁmwﬁmﬁfﬁﬁﬁﬁmmwﬁm;
(1) ACDBE (@ B,ADCE 3) CB,ADE @, ABCDE

Which of the following assumption is of Net Income Approach of capital structure ?

A Cost of debt is less than cost of equity.

B. There is no tax. _
Risk perception of invester will not cha nge by the use of debt.

| &2

D. Change in capital structure of a company does not affect market value of the firm.

E. The business risk will remain constant at ever}']'lé’g?] of debtand equity mix.

Choose the correct an, m the options given below-

(1) A, Bosly @J , Eonly @)~ A B, Conly @ CDE £my

ol S e o S ) e § Q AR R 2
A Sl I AN, 379 HI A Q FH 2 ;

B. &IE B
fraere =1 SifEg gron %S & 39Ar 9 gfafda Tel 8 |

Tt ot 1 Yoit AT § IRedd WH & SISIR He I Yo Tl il ¢ |
&9 3R &9 fago ¥ yde TR W Hayd Sifad faa @i

&
D.

E.
4 feu o fasedi § | War SR H1 =997 I : O
(1) FAAAB (2 FaAD,E B FHIAA, B,C @ HIAC,D,E

In which type of insurance should insurable interest.be present at the time when policy is taken ?
w i

_/(’2) h;&;nsurance only

((;)) :;feillfl]z I;;:E: ::CT)‘;HIY 4) Ii,[é? nd Marine Insurance only
ar X
mmﬁmﬁmaﬁma}m@mm@% w2
1) e Sfte s () et aifi s
((3)) e AHfEh ST 4) et Siter 3R gngfee s
17
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: rd?
geore Card |
: wnl'innf.’mlanced
o Geners

ofal hif " ari -(Ji.‘it’t"“veﬁ .
55. wi Lo CompoTe it B Sgrategl® ~ nd Initialives
) Vhich of the following is/are ¥ D Measures a
A Destination Statement y | Pers }ul#f‘-'
C . - Mo it ; D, E
E Hh"hl = l”L" 1nl|-|r|..l|l' mn JVi |1II||'|I““": X 7 only ("1) ‘-\"Ct Ul'l}y
i Strat ‘h},LuHI[ 11”,[1;“}]*3& f” ]? E 0O 3
- sy e ;
L h/)( the \1:“11;\']1”"“ Il,l ,, B¢ Il‘j'-‘:th § % Wi :qqm %7
!Z 4 = (M { 1 !
: 1.? q == ” —rﬂ—" ‘rl"i ‘il i ” ]’T’T”ﬂf_rﬁ 'j‘.aag-{
forran i
. # i p, @A afit e
s 71 i
o
ey T A FONAL ¢ ; ’ wad A, C,D,E
e IR TCp @ #FEBCDE @)
Hact A, B, C -
iry i the Nature, cay,
i * An Inquiry into N
1 the Theory of Absolute Adv antage’ in his book 1
56, Who has propou I1\.:“- tne (4) David Recardo
wealth of Nations'? / mith @) A.C.Pigou -
i B s Alfred Ma ;\.haH p)d Adam Smith i’ Wm?’lfﬂ@a (Theory of 4
Shi? _n Wam%wmawfﬂa o] HATH
Toa A9 uf—v—
-—v-*:?—_n o1 ? : -
= 2) e @) T 9 @4 SES
;—‘-'7; o (2) =
Freng = i ?
57. inwhich year the General Agreement or{Tariffs e (GATT) was setup

Jctober 1947

(2) Nov emb&r 1964

%)  January 1995 4) July 1991

':r'-_"a-—" e ﬁmmmwm:ﬁ?)wﬁﬁmwm?

1) SRER1947

S8 Maich List- I with List-II.

List-1
fteam

Bank Overdraft
TradeMark . —
Stores and ";pc:res

g =R g

Tﬁﬂ I

wE
PR e S—
B &% dmi

Inferest accrued on Inves

-1% W7 gl - 1171 T #iforg ; o0

@ @) TR 1995 @) B 1991
List-II
Head

L Current liabilities
Il Property, plantand equipment
I Current Assest Inventory
Current Assets other than current Assets

" rzud L WY, W g
C (Or ‘ih ELETy
[ [ o — e 3 .
D HEW ',?f"{f‘ﬁ;ﬁ (’:r lw 75"‘"1 «"ilfi‘ﬂ q1 Wﬂ‘ﬁﬂ'ﬂ]
Choose the : ; o amferay i
-oose the correct answe #r from the optiong given b@frl F STETE 87wy ] fey
J“I’l

A4 faw my fermeds 44 a4 uf
() AV,BHLCHL Dy

T T iy

()  AIVBLCH Dy (/ @ ANLBIY,cy g

(4) AIVliILﬂn?

18




60.

61.

Al
B.
.
D
T -

A
B.
c
D.

Cheose the correct answer from the options given below :
Hte 5u o fawedl 3 4wl s o =me e

(1)
G)

Under section 44 AB of Income Tax Act, audit is compulsory if a person is carrying on business, whose gross
turnover exceeds :

(1

ST AfatEe F 9w _-;,.-13%mw-@wm%aﬁfﬁmmﬁammmﬁﬁmmgﬂ
ToEd ferarEd | A6 § ,

(1) 60TE FIY (2 1LOFWUSIL, (3) 50&E FTIT (4) 20FUSTFE
Match List-1 with List - IL. Yy
List-1 © “List-1I
Term “=Meaning
A Incomeeffect —_— 4 table showing the different total quantities of a good that r)
tonsumers are willing and able to buy at various prices over a
.. given period of ime.
B.  Substitution effect I A table showing the different quantities of a good thata person is
/ willing and able to buy ata given period of time.
C.  Demand Schedule for ML  Theeffectofachanges in price on quantity demanded anindividual
arising from the consumer switching to or from alternative products.
D. Market demand schedule IV.  The effect of change in price on quantity demanded arising from

T - 1% F9 Gt - 11 71 el hifo :

C

D.

Choose the correct answer from the options given below :
ﬂéﬁqwﬁwﬁﬁnnﬁmmwﬁﬁm

(1)
3)

Match List - 1 with List - 1L

AT §
e {jwﬁuﬁﬁﬁﬂﬂmﬁﬁﬁﬂmmgmﬁm
gfereaTT IL ﬂﬁﬂﬂﬁ'ﬁﬁ!ﬂaﬁﬁﬁfw:ﬁ
i Lﬁ e & 3 e e .
s i o A ML 1 A TR A S-S & A
‘ ' {‘a. #f uftere| &1 WHE
A A A lv.(j%qﬂﬁaﬁﬂiqﬁmwmﬁm%ﬁ%ﬂ?mmﬁ%m

List-1

List-11

Ind As

s Related
{g:‘: “:::; s 1 L Revenue

As-4 IL. Property plant and equipment

in“: J:S- :‘lg L. l|-|\'_u"lrl\'”i_., Nl equipmen :...:.
Bl IV.  Préséntation of Financial statement_~"
1% T gelt - o firem #ifm . N o
i i et m
Ind As T Y
Ind As-1 L ey
Ind As-2 0L HYe-gae i ST
Ind As- 16 m e
Ind As-18 v. ol fen @ i

A1, B, C-IL, D-IV @) AIV,BILCILDI ,
AL BV, CIL DI @) AV, BIILCL DI

Rs. 60 lakhs Rs. 1.0 crore (3) Rs.50lakhs (4) Rs.2.0crore

the consumer becoming better or worse off as a result of price change-

Tt -1 -1

Sk

= LA ) ]
L T e et e o i o s o

3rg v 1 Tl ) i H Rl g

’ - 2 AV, B G-, D-I -~
A DT 7 AL B-1 -1, DIV

AL BV, C1, DI (#)
19



62. Whe has stated this
rituals™ ?
(1} Mewton and Findlay
@ Barlow
e SRR
() 7 R s
(53] L i
63.  What ts not included in Depand ant
(1)  Tastesand desires of cONS
Expenses of the consumes

T3 e g T [
Jhe priceof related goods,

7%
T

Substitule

(e WTTJ"E
e R i b e
Ve o |

64. Match List- I'with List =11,

List-1
A Finance lease L
# Operating lease It

C Sale and lease back - _JIL

| B Diirect boase IvV.

T - 1% = T - 1 e S

-

A fEAFH I
B. VERR AW IL
\

D. wmY R Iy

Chioose the correct answer from the options given below :

rd w1 faawd] 7 A w0 w e ¥t

" A BIV,CH, DA
? AL, B CIL, DAV

Z

Parlor mance

* fapgre TR STHTL 1.

s o complements 'H]

C fagt . o \

prates into a 1 h"rlr.::_ 1
| too of bl '_El'_'r.'ﬂr. dis :
il Al L] E
1|}'|'[-|

g
7) -'\rrsl-'-lnlu!'-,,mlf Murlis
@ M
-cin RN g
H‘! (it ~ g el LA AT R
Wby / STRETTAL siftien SR
] - Rl e
() st St HTIETE
e
b e
[ g e

{ quantity demanded

o i
pmnes For commodity’.

-

Pt e 3 o i A AATWETS ST AR
- = g ST

List=Ht

The lessor transfors, substantially all the risk and rewards incides
the ownership of the asset to the lessee.

I'he lease under which a lessor owns / acquires the assets that arels :
o a given lessee.

The Jessee sell an asset for cash to prospective lessor,

The lessor does not transfer all the risk and rewards incid
ownership of the assets.

i
mjuz;:n ST * T & walm oo shifam oy 4 ey
r‘-ﬂ'x{ﬁj{ﬁ!ﬁﬁﬂﬁﬁlﬁﬁ R -

TR forel o el ot oton orvemst =3 v e 8 v et
s o w8 TR

o -..H-..‘ : - F il 5 .I - - . f . F :5_ i
: : 3 o ; . A Loy : 5 . =

] |
& U
(2 AVlLcmpg o~ Vﬁ} |

AL BI, 1y, D1

20




bh.

67.

Match List = I with List =11

List-1 Lists 11

Term P-ll'rln‘rnE
. o L
oo L Thoactof using oo services sty wa

i h'lni]alnuurﬂ-dc|u||1urm r]..u. FMEITTRY
b= Macroscononiies m ThEkcess of human w anks over what can actually be produced to fulfill
iﬁ‘l‘lll wanits

D Agpregabe demand IV “'h."\}!ljlk h of economics that studics ecomomic aggregate the overall level

"rr'”l"-" outpiitand employment in the economy.

it - 1 5 W g - 11 =0 e s

-1 vﬁhu

e 'ﬂﬁ' *«
i ] I rﬂuﬁrﬂﬁ?hﬁ,ﬂﬁaﬁvﬁmﬁ%?mﬂw

C TP S M aE § ssmi o e sen feuowm # afes o T
I |

D W V. s e, and wrEe O g, S ofR T w S A
i—'?"? A AT F A

Choose the correct answer from the o plu‘lnﬁ Em i below = '.“(

== fau TF_TT-I'#F'H""'ET'H'ET?H:ET?IFT%F{T 3 ry)

.

-

/y/w BIL C-II1, DIV --—*' gy AmBIv,CHDI
=) AT BL €IV, DI : ATV, B-IL C-I1, D
-~ " .r;u
Which of the following is probability '-:'IH'!P]-I!\
A Simple random sampling s Bt # Clustered mmplmg_/ 6 Quota sampling
B Seratified sampling E Snowhall sampling s

{hoose ghe correct answer from the options given below
A, B, C, Eonly {ZM, C, D, Eonly fﬁj" A, B, D only 4y B.CDonly

e o A FiA-dt yihEdl Jfaee € 7
A T i wiaedd B R wiee C.  w AW

=73 feu u famedl © & w6 30w FREET
Q) #a9ABCE (Wﬁhibl)[ @) FEABD (¢ FEBCD

In Financial Enterprises, dividend paif‘u.ﬂn showing which one of the following activities of Cash Flow
Statement ? - A
(1) Operating activities {‘C}ﬁr Einancing activities -
(] /i Investing activities iy Operating and Financing activities both
forsi el 4, wiaa Tty o waTe e o1 Frfeafias 28 -2 frarme i T T
(1) g A (2) e fepemaemd

@) T ey (4) e, e fersde foe 2




o8 2.5- 1, liquid rabg=15:1. Whas:

: el | irrent ratio is
1.1.-“r 'i“ﬂ t"ﬂ-i"[til] & company is Rs &,00.4 (M) CluTrTE

invéntory ? = o (4) Rs. 2,00,00¢
Rs. 600,000 @) Rs. 10,00,000 (3  Rs. 4,00,000 a =
8. B AL i} v " g & = 49 g=15:1%] - 1Hi
Pl St ) e 0 6,00,000 99 1 AL SFIHA 2511, 167 < 200,000
TH 1R | 1A 0, ; = eIl (43 200 00 Bem
(1) 600,000 T ) 10,00,000 TUT (3) 400,000 ¥ J i
L O, UL, i b i

(L) ; he recipient is an individualy
59 Which one of the following is rate QRLRS on payment to contractor if the recipient 15 dual
» ChOne O i LIE, hy, A= i § 3 v 4
i et PSFEL R
et A - e H E T TDSH 8 @ 10%
¥ r = ) -
: 2" 28 i (3 )70
1) 1% TN

£ =

R IS E A TE A

70. MatchList-Twith List-31"

List-1 A List-11
Institution o Year of establishment
A Industrial Finance L 2006
Corporation of India (IFCI)
B Industrial Development Bank L. 1964
of India (TDBI)
5 Industrial Credit Investment L. 1955
Corporation of India (ICICT)
D India Infrastructure Financy IV. 1948

Company Limited (IIFCL) | ==

elt - 1 e g - 11 o F i

-1

Hrae i) TG T A
A o i fae fem gkchd L - 2006
B A S fam i (108 I 1964

C o e e fEw R acion . 1955
D.  wrAm FEhE e S iR ey v, 1948
Choose the correct answer from the options given balow

= fau 1y famedi @ 9 Wl 39 F1 997 Fiw

(1)  AIV,BI,CILDI (2)  AIV,BLCI, DI
@ ALBILCILDIV cm @ AmBLCN,DH

s 4 . '.l . 8 . -
if & parinership formed to carry 1_‘3_'H’d"hu.‘iil11.‘55 withaut specifying any
long as the partniers are willing toidarmy” is called g

(1) Pﬁnr.r?r.‘ihip for fixed term f-,.__'“-.:

period of ime and continues o8

Partnership at will
Particular Partnership  |7)

—
" —

() A3 amias feerm wmirendy 2)  Eni e
fafyre g



72.. Which of the following is /are the PW]E& of General Agreement on Tariff and Trade (GATT) ?
B

.f‘u_.. Trade without discriminatios Protection only through Tariffs. X

C Stable Trade, D, Consultation.

E Unfair distribution of wealth &

Choose the correct answer from the options given balow -

() ABCE only {2;,"'_ A, B, C, Donly (3) B.C D Eonly (4 ACD.Eonly
Frefetem 3 & #9-% g Hew i s et o) & Fegfq 87

A Sy T s B. e e e 4w

C  for=mR ] '

E e i) - froe fyao S

A e e faed & A Wl 3w v i

) FWABCE (2 ¥ 9ABCD (@) ¥aw Bcdﬁ E (4 % WACDE

73. "Anorganisation thatcarries outits activities not in one central place, but rather in multiple locations by suppliers
and partner firms as part of strategic alliance or a la rger “Supply Chain” istermed as :

(1) Collateral organisations (2}  Network organisations
| (3)  Virtual organisations (4]~ Typical matrix organisation
" e = I frasem Tt e e T g el Ao a5 = W, WHit Tesie @ e e
| Iy Een'' & wm % w0 H smyfiwnt st g w6 gw ve= s wee e
i (1) FowiEET g9naa (2) e
@)  uE Ene (4) wEfEE mw
]

74 Which of the following transactions are shown as investing activities in cash flow statement by finance
companies ? g

- |
i A Cash proceed from sale of fixed assets B. Repaymeitt of loan taken
F € Debenture purchased D, Loanadysnced L
B Purchase of patent Wt
Choose the correct answer from the optiopsgven below :
(I} A,B.Conly (2) ,CrE only (3) B, C 'Donly (4} BD Eonly
fFrefafem 4 4 #17-8 @987 fad sufml g s vame faam 3 Few framem & w9 9 zuie 5@ $2
A T anfedl 71 fagt § T witeat B, o M HT F HYTEH
C %9 fFa m wmrge D. WA

13 fau e famedi 4 @ wft 3w 1 997 A0 \J _
(1) ¥@ABC () F@ACE (@) FEEGL @ i
A l.
|

75. The System where two or more banking com panies are confrg ed—h;,_.{ q'?n_le or bwo indjv;duii: i;;t':ﬁﬁ'ﬂ‘l i
(1) ChainBanking = (2) GroupBanking ()~ Mbedfking () ~Bunch Banking

&mmmﬁammmmﬁu{wr’mm@ﬁmmtmﬁ:
:i) mﬂﬁm @) e A (3 T #feim @) qw

23 008




Jeary of Motivation Propes,

S 1T
wf thie Expectant
76! A s upder the mipdel of the EXP i
“::“ge the five variables of inter-relationsit > ( Jw.mi_-:-a!_lﬂnai Rewarc
A 1Hlvmm Trdlivi il [’Urfnrlﬂi!iil'f-‘ C alid
Individual Activity B 7 | Goal o 3 gl T W
i F n ||-,almrl.l Ll 2 Ry ot 'q'uﬂ"rﬂ-’l G =L e,
D. Individual Goal E tl‘_r“ P— gfzge & HAala AT
SLUR. qm gr whef st F TR
ﬁ . ’ i ;,111.4.1;, ¢ Wr'—_qz_pr-rfm—rﬁrf
A orfm e p RS
D =fEw T IR L 'ﬂs';q )
Chowse the correct answer from the ppare g’““? s
RN Rt 3 3 it ST T ﬁgw-} @ BACDE @ /CADEB
M ACDBE @ AGBBESL ©
F it P I.Tﬂd'[‘.' 7
i EeTine is substantive docunientased in foreign ACES A’ E)
i “:.rm_hfi"l 3 E-r:}::lr:?u]l-::" - (2) Certificate of origin/ & ' D
g} I.’;;}IT}:-;xrh.u-gu (4) Inspection certificate
%ﬁﬁﬁ:aaﬁmfﬂ?ﬂmuwwqﬁwmﬂﬂﬁﬁf
(1) S A (@) FEEE S EET-E
o EfET (4) TR A
78. Theminimum capital prescribed by the RBIE::prcailarﬁng a new small financial bank is : .
) Rsllaore () Rs200cror () Rs.10 cmr_g_,/ (3) Rs. 1000 crore
o= A o i 4% A F0F 6 ugp; 11 fafem =gem = € ;
3! SRy S
1) OFIEE @ 200FEE i @) 10FEE @ 10FEE
O\

i F'T“- . -
79. Which of the following comes under the ﬁigrrﬁﬁnfnt meaning of foreign exchange ?
A Tiis used to denote the rate at which d.&_ft_:\glnl monetary units are exchanged. r
Itis a process through which interna rﬁi’a}'wgﬂncnts are liguidated by different countries_*

B
. Hindicates the rate of sale and purchase of foreign currency.
B Foreignexchange situation in one country does notindicate the strength of the economy.

> the correct answer from the options given below
{ A B, Conly {2) B.C Donly (3) A C.Donly 3 ABCD
‘Z;ﬁﬁm—mh%mﬁﬁm%wm%ﬁHﬂﬁm%?

A TR Pl w0 ¥ o v A fam W fafas e vt ot = s 2
B Wﬁﬂfﬁﬂ?ﬁﬂmﬁf&fﬁﬁmmwmﬂmqﬁi%l

C  waM g 5 o e o e

D. % Zp 3 fozh fafom 7 ool vt 1 woraeh o i

e oy foreedt 2 Wt oy v
() #@ABC () FHasC

3) wHAAA,C.D 4 ABCD

80. What is ot a distinctive characteris ﬁmt:i'segﬁnks?
Tangibility /  (2)  Jnseparabilfi) fabi
i (3)  Variability : ishabili
AL 4 %?} ariability (4)  Perishability

(1) T/amm 2) faemEvitem (3) faraereiem @) e

£
24




—

82

B3,

arrange the financial mstitutions according
Al Imperial Bank ;
c J..IJL'.]“‘HI]':'II'IEP {_‘Urpr_unhnn of India D
E Regional Rural Banks :

to their year of establishment from earlier to later :
State Bank of India
Unit Trust of India

faeterfes fasdta st w2 s B I 7 Ty T 3 3 s st 7 -

A sufifie i B
¢ TR e e fi l}l
E B i S

Choose the correet answer from i o
oo € the optons given balhe™
i i e :;I.-‘:fmﬁ ,gm.h h!.fp,\_-f ¥
1) ABCDE @ CDABE

Wt w2z g
UHE 7= it Sfzm
ol [

19.86% (3 548% @ 14.46%

wmmw%mmq-mmﬁml'wmmgmmﬂmﬂ’3?

Arranpe ri } i
nge the following steps involved ina qualitative research in the proper sequendce :

A Rr_“.'iewing of literature,
B ljicqﬁf}'m;; aresearch topic,
C Setting the purpose and selection of participant.
D Writing the report
E. Data collection and data analysis. 7
TR A A wAfkw Frfeten S 5 atan s st 5 -
A wifeE i wen 92
B ¥ o wogeem
~ - x 3 = (N
C 352w ffo s ufanfird = L
D e A - ‘
; : Y
E 79 Hder sit 20 favemm s
YY)

Choose the correct answer from the options given below

TS fau 1 fredt # | wl 3w =2 e

(1) ABCED @ CABDE @ CBAED
The Channels/ Levels of distribution are :
A Direct marketing channel or zero-level channel  —~
B Dual-level channel or Single-level channel
= Exclusive distribution
D. Reverse flow channel M
E Selective distribution A_. 1.,_‘;_,
Chgfise the correctanswer from the options given belows
A, Band C (2) CDandE @f A BandD
A & 4 - i :*1
A weaE T S A - A i.i N
B fe-Ta e W uwe - S s
-z faam >
s @)

D, fasm g 49w

E FHATHE Ha
43 g . Fapes 2 Tt 3 O A .
(1) AB3fC @ CDIME IS AHEND

{4) 13.86%

EQ/H‘ E,C.AD (4 D,.CEAB
N |

What is value ; e
tatis value of cost of equity if risk-free rate is & pencifih market risk premium is 9 percent atid bebx is 1547

Q Ry 2
[sq\“'
611

]
E
4 B, A CED
4 B DandE
4) BD¥RE
008




85.

-""-‘S‘illl'llptiﬂl‘lﬁ of the law of diminishing marginal utility includes :

: ; ] Suitable unith %

A Rat i ¢ B, ul et wanis
{2 Clr“;:-:l-jﬂ:tihh . Commodity satisfyIng difteren /

— Pe L I A

E Introspection 1 i ; -

Choose the correct angwer from the options given LS and Eonly  (4) C,Dand Eonly ]
() ABandConly (2 /B CandDonly (3) A Candtont * .
WET it s frpl ) gEerons 7 At 84 -

A - B SEEERET

i b :

C  TEE S D, fafiper Armmaal 9 w1 T I
- ke GEE L R[] : W

E. Sebismm e | 5
At o, v Faremet 3 ) HE TCH] T IS S q d #nE (9 FEAC,DIRE
1) FEwABIC @ HEAB,CIHRD. (9 -;"j-' @A, CHRE '

e g o ]
consent when it is not caused by

86.  Which of the following is/are correct about free = -
A ('wr:-iun B, Undue Influence < Fraud
D Misrepresentation E _”*“Tm"-'"t .
Choose the correct dmwertgr;un t;l-LTpI__t;(;]ngun hmr[;:" - AR TY e (4 B.C, D; Eonly
1) ABConly , o L only e e, p e oo
et § 2 -0 T/ TE Teata & A 59 § W 19w e / E‘F”‘-WEW%-
A TEE/E B SEERAE s =t
D Toen ey e v SR e 6 e
5t oo o ol 9 WE S W 99 ST e
M IEHABRC (2) FEAB,CD (3) _? _.;qr.'! A B CD (1) =heiel B, C, D E
87. Match List-Twith List-11. >
List- | List-11
Determinanis of Meaning
Service quality
A Responsiveness AL The Provision of caring, individualised attention to customer.
B.  Assurance _~~ 1L Theappears of physical facilities, equipment, staff and communicatis
. o materials
c Empathy .' ; /_,: . 'The knowledge and courtesy of employees and their ability to cond
7 i andcanin -
r 5} I::mg,rhl._ﬁ = : H" . Thewillingness to help customer’s and provide prompt service
T - 1% @ g - 11 7 e i -
-1 T - 11 0
AT & i ard D
A wEEE R St T
= g L SHHIHIT = Wﬁlﬁﬂ?ﬁ ST 1 U
C— ?ﬂaﬁﬁﬂ: i vfrfa-,s' z gf‘aman, BARZRIAS e L E L e S—
2 ML et =1 9 e o forears sie sriven ol =0 2 4
D, T AR v

SISl ) el i e e e

E?I-mm the correct answer from the options given helowl: 3 ) i o
Teu 7y fammedf 1 4 it wwr 7 Fifa

) AV BILC D =

(2 AL BRI i
(3)  AAILBLCIL DIV pIEEs AL DIV

%) ALLBLCIV, -1

26 008




89

90.

91

L

SUGAM is also known A% :

T Fefefem g 1 )

1 ITR -
() TIR-1 % TIR.2 @ a 4) TTR-4
Under which sections of i £l
L 5 of the Central G i ¢ Services'T: e
i entral Goods and ?-.u!n-u-a_:v;_‘! ix Act, 2017, the provisions of Input Tax Credit has

(1) Section 12 o Séctinn 15

(3) Section 22 to Section 30 ok patitre 15 to Section 21

e SEt T d)  Sedfibn31 to Section 34
Falq Wt Akt e R o

o bf‘f T A, 2017 %) few arosi siwdmemm e 2 w1 avey B T E2
(1) 90129 ym1s el

a 3 @) umTsd umz
J)  HYM2¥uW — e
: il @ R v g

1'.: hh‘h]nt the following is/ are the methods of calculation of purchase consideration 7
= AUmp-sum payment method B.  Netassetmethod
K_- Total payment method D, Netrealization methiod
I-; SWAP rate method
T:. hoose the carrect answer from the options given below :
E_TI A, B, Conly ’5:*/ B,C, Donly (3) A, D Eonly (4 ABC Eonly
e § -0 st % e e £ 7.0
A CRER Yo i B, Frag st faf
C 30 o fafy D et fafa
E SwAPTfaf N
13 Tew e et # & vl I 9w i L
(1) FEFAB,C () FFAB.C,D (3) - #EEHAD,E (4) FAAAB,CE
Match List- T with List - TL
List-1 List-1I
Heads Section
A Agriculture Income L Section 10 (13A)
B. Amount Received on L Section 10 (11}
voluntary retirement
= House Rent Allowance Ol  Section10 (10 CC)
D. Provident Fund V. Section 1751 !él,lj
qﬁ,;imqﬁr-lﬁmfﬂaﬂ%ﬁm —~—

-1 -
T

vird ES
A FEAE L STT10 (134
g e dEtafaw a1 w10 (1PN
c  ZvEe e e m R0 (1090
wfaw fif v, W10 (1)
Emow the correct answer from the options given below
o o mﬁﬂﬂgﬂvﬂrm'mﬁm: 1
ot L (Z)  AJdV,BILCIL D
(1 AV, B, O, D R oy

sty
fy A BILC-IL m/

27 008




o r'\.‘\hll
ni caniol be uhlmn{h

] ) wm acco i
_}?)&ﬂnnrg’{&j securities premium act 7 (2 Writing of discor
1) Writing off floating cost L;] Bonus issie

'.I:f i’—_a—!-_r]r t—r[]' "m"" .rﬂ

92,

=) Dividend distribution

i FATEA
whrsifis it v o 9 frefafen o _}"m;nm'ﬂ'ﬁﬂ 22l AT
(1)  ERI E e g P
) ey {4) a1
(3 v fEmy ™
93, Match List-1with List-I1, e .
s ~J List=1I
isl - o sect
t{) ¥ t Sechons
Provision under the sl P
Indian contract Act, 1872 M. 11
A Contingent contract L pectian -1_
B Bailment flaggsediongs
c Fraud M. Section1?
'k Coercion IV.  Section 148
Tl - 5 0 T - 1 1 e # i
get-1 - 11
uTAry Hamr Wy, 1872 8 : Haifera s
A FFET A L HHT 31
B. A ;';:.,_ j'; L HAI15
C e ~ m 817
D EEAe (L v s
Choose the correct answer from the nptiuﬁé%ﬁ;un below :
4 feu T faeedi © 4 ot 39 5 99 Hifam
(1) ALBIV,CHL DI e AL BAIL C-IT DLy
3) ALBICIV.DI AIVLB-TIL CLTap
94.  Non-collusive oligopoly models include - (/ P) 2/
;n, E:umul ,;,uﬂiﬂ : ﬁiﬂ&iﬁademhip mode| )
E;, gFworth model (P Bertrand model
Market share model
;‘hnm; ﬂ: most appmpmte answer frog n below -
] i -ﬁﬂd Conly ! y e U.an i A CandD only 4
ﬁ?-ﬂa&mamrfwm#m '**«I *Dand E only
A Ffafzofzm

OB o0-Hye vtem

14 g 7 e @ A wan IagER I 1 w0 wi ;
() FFAABAC () FWECDME (3) FAWA Cahp

()

%B"D#R'E



al

96.

Which of

mption ar g

; T dig

BAC for asspge "Ment year 3024 9= Tuction v il not be available, if ass

) Houge Rent Allowancs B

c Ls e Travel Conc esgiomn

L‘“HHLIT(' Il“i]l]l"il"“

Tax on Employiient
aken for self.oc upried hog

I
= llll.l.‘ll"\lilﬂ iv:_1-.'11\1
sg pl‘UFH Ty

Choose the correct angy Biven bel
wven be g

VET from the options
(1)
J

L DLE ondy (2) A BC only
qe gt I8 2024-95 3

Hefeimy " 8w HI S W Fdm 0 T A g

B Syt ey
D, A5 ar

E - Sy T8 H9fY % e, T8 11 1 <oy E |
e g g s O B 97 Hifag .

If an ave Tage 2 customers .srri'ue atashopping mall per _minutc-, wh
4 customers will arriva 2 et= 1353

afs el v Hied o ufy figer ,aﬁ?a-r‘*:mmwmi* mmﬁu‘r—rﬁwnm ATEE

e == 1353

(1) 1804 () .0902 BN 1253

Bl—A,B.D,Eonly

LCDE (@ FAHA, B, C (@ #FEABDE

HEssee Ooplk to

(4

)

atis proba blfztv that in give

(4

Y. C, D, E anlv

W SR Fwffe wrg 1 BBAC #rafinty R o R — wfaRret =1 a5 &

FIABC.D,E

706

Armange the phases of capital expendibipe/ Inw'stn'iem.p‘hnnmg and control from beginning to end

A Evaluation of the net benefite

B. Identification of Investment Opportinilies.

c Development of forecasts of benefits and costs.

D Authorization for Progressing and spending capital expenditure;
E Control of capital Projects,

TSt = S A ot o= & wavit 51 yeoa A o a a5 .

B.  FawzEwi % v P
C #HI S AT & YAl 1 fasr (Y
wmmmﬁrﬁ;qﬁﬁﬁqﬁ%ﬁ&mfﬁm

D . \d
E st ufegemne =t "*1"?

1 iF [ L IR.'lU'I‘\-
Choose 1f|.s" correct an r .”fl’]ﬂ] ”'I !FPI]HHE};H" T
| L

4 e . fasmedl # A Wl SO A FIA0 ;

PV{L', ADE Bl B

(1) AC.DVEB

29

)

BADCE

be taxed undor section 115

en‘minute exactly

TEE F1 Wi P

0os



98.

99.

100.

formatt
1 = ~ipyear of forE
| organisations according to their)

Arrange the following internationi S
; ; | Trade (GAT [)

A General Apreement on Tarift and

B, World Trade Organisation (WD)

SN
- on Trade and Development (UNCTAD)
e

IHW_:H.—\:"”JE]'

C Uniited Nations Conferen e Aflied Act
D "\s:\:;am |L Chates o1 Developing Expay Lfnfrastruchire and Allie -
I o L e to Siaies it - L. ' Pyl - =5 T
e g = i srpET A

Pty st Fmesl = 7o 8 T,
A T i T =TI (M)

B fiye =R HNEA (EEEES) I
C  ¥gEs e = 3R FHHE (HFES) ol
Z £F . = e - i 2

0 Featy s A S R 3 S 5 fomm T &) HEAd (555 SR
L}, =g ST = i i i
Choose the correct answer from the options piven below
S Ferp v Ferepe 2 W S o 9 HI S
' B,C 2 ~A,C 3 BACD @ CAD
m ABCD 1:1,,/.‘-., C.B.D (3 Fiky
Match List -Twith List =11

List-1 List-1I

International Business Meaning

Approaches -

A Ethnocentric Approack L Companies establish foreign subsidiary and empt

B Polycentric Approach IL.
markets *

C Regiocentric Appreachy 1L Cﬂmﬁsﬁni{}q view the entire world as a single country
[ Geocentric Approach " Subsidiavies consider regional Environment for Policy strategy formulsi

T - | 3 = A - 115 EE FE b
Het-1 et 0 -

A TEEEEENTH Lo e fedt st sl i et & oy st ) gees s

B =EgEEEmaTE L, el e e e R e tma
C  aFwiemd S M 9 590 v = oee 990 % e a2

D gHfEHd EwH V. ST S i i e e sl e w e i

Choose the comrect answer from the options gl:_.?ﬁd below

=2 oy famed] § A W 390 A whAnL

(1) AJLBLCIV,D-M (@ ALBILCIV, Dl -

® AILBILCLDIV WY AV BLCI DO

In which book Alfred Marshall has for the luﬁl;:ct:me used the term/word “Terms of Trade” 7
1) }fum.-}r, Credit and Commeroe ({Z1y Principles of Economies :
{3~ The Economics of Industry ‘hH,'I On Rent

et v W eqei Wi o awe e/ e a !  we fin 2
() A, ez de wind 2y  Tiifoyes s wifo

@ et st e ) @R

30

an from eazlier to lx,

wwer their executie

The -i:.ugiél-.:jc companies view foreign market asan extension to domes




101.

102.

103.

Arrange thes e
B e Tl-!llut‘.lng'lu risl Al
ogistics decisions in prope ; 2 s L2 ey
A Chrder processing FI:UP'L'F ?-.‘qu-.-mc- beginning from start Lo € rich
L ,fJ'-"ﬂn'Ih{-.u;‘mﬂ B nventory

Choose the 5 ; Iransportation
e e most appropriale answ grfrom the options gi\.';-n Balow 1~

(1 f r i

:ﬁtﬂﬂ:{;f;;{:;l;;‘iﬂ 1 ijj-ﬁ;;:é!::l: Ir[r;r - ;‘;ﬁ:ﬁl-ﬁﬂ; tm-.! C () €ABandD

E SrEm wEfsm : B ';n::r..-;:].?_i';. e |
{_ - et e e el E e ey D "Tf"'ﬂ?—l ] : {k? P

A far o et 1 & wald awgg R W i YA\ o\

(1) ABCaED (2) ALCIB s ) ABD . e @ C. A BARD

Match List - I with List =11

A E‘.:"l ! [l’ri:""“?-j List-11 (Meaning) ;
55 Mark-up Price L Starting with rate of return objective and then setting price
R Tixe that will yield desired rate of returmn. .
; ATgetrate Of TetUE PriCing = v E Adding standard overhead cost and profit
8 Economic value to Customer Pricing | -l Firms disposing off excess inventories or used goods
2 AuctionPricing ____— |IT IV. Adding hostofinputs such as buyers image of the product
5 performance, warranty quality, customer support and other

[ v softer atiributes,
=it - 13 T g - 1 e e
s e -1 (#d)

A StEEE Ty L e T & S FE Sl g Aited fiwe
B, =iy waes g — VO e i g B i R R

M el g e me-a T =1 W T s e

C s S e T

D W e )

Choose thé correct answer from the options given below : ¢
3 Feu 7y Tyl 2 W SR ) = A -0

(1) ALBLCILDIV 2 A-ILB-IV, L, D-II * g, — WV

@) ALBLCIV,DII (4) AV, BI,C4, DI A —F /

Which of the following income from house property is not charged to tax ? 8 Ci= 1
A Farm House. L:mi B.  Property held for charitable purposes. X
= More than two self-occupigd Hpuse.
E House property of registerpdizade union.
Choose the correct answer from th‘c’f’q?tiu ns given below::

A,B,D,Eonly

D Place of ex-ruler.

(1) B,CDEonly @ a€, Donly (3)  AD,Eanly (4)
ﬁﬁmﬁmﬁqﬁﬁﬂﬁﬂﬁ#—ﬁ%ﬂmmmwﬁ%?

A FOTE o~ B. zrim:smmﬁra;m | Lo =
o 7 st E-far L et D, YE-IEE FHES gl
E @ﬁwﬂﬂﬁr@ﬁﬂa

ﬁhqmﬁﬂﬁﬁﬂﬁmaﬂwm: 1 1

) #a@BCDE @ FIACD O (@) FWABDE

008




parties but not at the option o,

k g f s of the
104. ..-'\n agreement which is enforceable by law at the option of nrw or more o
other OTvnlht‘.r‘a" is called : mhlslc contract (4 [legal contract
(1)  Void contract (2)  Valid contract &) A (71-11*3'&576 = 4 i |
"' e < s o stfies TeERT 3 faen W fafH B gadAd T 174 2 fe T Wi
B2 Feena ® / s 3 S i s
(1) 3 EE @ AuEfEd @) qEATrE S
L)
105. Match List-1Twith List-11 3 '
List-1 e List-11
Theories of Motivation i F‘rupnut:du.r
A Need Hierarchy Theory ol Clay Alderfer
B ER.G. Theory . = ol Sigmund Freud
C {.;-\.( 1'"03“‘1 tic Theory o "_EI_ Abraham H. Maslow
‘ Two-Factor Theory W Fredric Herzberg

-;5;;1 1¢1—&@T-l[_=h|m_ﬂq | q:

-1 gt -1

axferiom & fogia wfeaEs®
A A Lk (e AR AL L F TS
B 2 H L= Sid IL. famis LIRSS

D_ fg—éﬁﬂ-fﬁ [I‘ =\i-|!-k'- m @E‘.a‘i
Choose the correct answer from thelgptions given below :

3 !4\(1113?—11'474%?"(31%%5[&11
@ ALBLCILDIV y/r\mm____cj_l}_[y
@ ALV, BLCI DI

@) AIBICLDIV
(3)
. Who has defined Economics as a ‘Séignce which studies human behaviour asa relationship between ends and

scarce means which have alternative uses’ ?

(1)  Marshall (2) Pigou (3) Robbins (4) Keynes

e sdw =) U e, S s sir Aefeaer ST ARt g WA & |9 HaY F B H A AR 3
rereE S 2, & w9 H e A e 2

) = @ M @) e @) w9

107. Arrange the steps in Decision making by a business firm in last to first order :

A Exploring available alh*rnaiwe — B. Performing sensitivity analysis
( ) K =

: Determining Objectives r—m D.  Choosing bestalternative

E Assessing consequences of varions alternative.

el ZaaE T 21 ﬁﬂiﬂﬁq’m#‘mﬁ‘fﬂ affeny & wom e H Srafer w1
A o9ee el WA I N B, WG feven s e
C. - ZZeva fawito we Lo D A fawes =

P

|

g fafe= faaedl & wfiomst ﬂmmm
Choose the correct answer from the ﬂgl]nm given below ;

4% feu 7 famedl © @ Bl 39 F1 994 FINY,
(1) ABCDE @ BADCE (3 EACDB (4)\/5 DEAC

32 008




the
s 8. Which of the following is properties of standard deviation (o) ?

i

A o +K=0 B. o—K=0,-K (@

D. o, X K=Ko, K, o, %xK=o

Choose the correct answer from the options given below : :
(1) <A;B;Conly (3  CD,Eonly @7 CDonty——4) B € Eonly

Frfafis § / FR-9 9w fa=em M}'}H[ﬂf‘m £

ot Oy
A o+ K= o, B. '”1__ = 0, - K G o+ K= —k—
D.  o,xK=Ko, B ‘;r_ét‘l{:a‘
ffrufﬂmmfamm »,nw?rwm-mﬁfmr
(1) FEHA,B.C @ 3.351'(!. Q,]; @) FAAACD (4) Faa B,CE

109. Which of the following are quantitative credit control methods ?
A, Bank Rate Policy B.  OpenmarketOperations

C Rationing of credit D. Margin requirements _~
E Vanable reserve ratio

. Choosé the correct answer from the options given below :
N ) A, B, Conly (2) C, D, Eonly (3) A, B,Eonly

ﬁﬁaﬁqmwwﬁmﬂmf‘afm%?
A FE Al ; B. W& A9E REEH
s WWH*W/WW D. i AEEEan
ﬁﬁqmﬁﬁaﬁﬁﬂﬂﬁwwmm
(1) FF9A,BC (2) WLDL @) FadA,BE

™

(4 B,C Donly

@ FaAB,CD

8. The concept of product life cycle is baséd on few key assumptions. They are:
A Products have a limited life

B.
to the seller. i
0 It occupies most desirable position in consumer’s mind making the brand almost impregnable.
D.  Iterects outposts to protect a weak front or supporta possible counterattack.
E Profits rise and fall at different stages of the cycle. =

Choose the correct answer from the options given below :
(1) A,BandDonly (2) B CépdDonly (3) C DandEonly

I SEA 9% #1 HEeTT 9 ¥9E Taginsi wemiE 1 ¥
Zq7e %1 wfea staa a8 O

4 . Band E only

A
e for fafore =it & T R, e faf e, s st faha At wEned § o €

7 s 3 Femm  wad Argmlfet Sron €, S ATE T e o
%ﬁmmﬂtmmfﬁ#«ﬁnﬁ:maﬁ%#ﬂgm%u
ﬁﬂ?ﬁlﬁmwurfﬁmmam T
wmmmﬁﬁnﬁwmwm

(1) #FadA,B3D () Faap,CAD ()

poid S e

¥aEC,DSRE  (4) ¥FEGA BIME

33

Product sales pass through distinct stages, each passing different challenges, opportunities and problems
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117,

V
Nhat are the twg numbers whase
® 20 and 16

g , Tt
arithmetic mean = 18 and harmonic mean =16

30 and 6 (33 24and12 (4) 22and 14
';I HB':H“ = A1!' EEED| Tﬂmﬂ 183 TS A = 1687
M) 203k1e () 303Re (3 24312 (49) 223714

112,
A. NABARD rs. NHB C EXIM B D.  SIDBI E.
Fr=feafies fiete Twoml #) 399 = ¥ w1 o syt i
A B A c nr;xq:{;g D. EEE] E.

Choose the most appropriate answer from the options giver{ baldw :

=19 faw o foredt o % Wl SuER I w1 w9E FiE

(1) ECABD @ ACDBE @ HALED ;yc, B.D,AE
113. Which of the following are merits of NPV method of capital budgeting ?

A Considers all cash flows.

B.  Consider the time value of money.

c Give more weightage to future receipt.

D.  Satisfies the value additivity principle.

E No relation with the wealth maximisation principle.

Choose the correct answer from the options given below :
() A.B Conly (2) C.D,Eonly @) BiC

@) only t/(,;i D only

Frefafea § |4 #9- nwmrmcﬁmaﬁww;ﬁfﬂéﬁw

A HAE ITE ¥AR T AEE wwr e

B.  TE % 994 uH Y foen s

C s wifa 1 sifve R/ wee yem e &
D. Hea-grasar fagia # S Fa

E ¥ seqHist fagid 3 18 gey 78

7 feu 7 fasegr & ut{mwwwm

(1) F=AA,B,C (2 FEEC,D,E @) FETB,CE 4 FEFFABD

£

114. Which one of the following is true with respect to working capital finance ?
(1) Liquidity is higher in aggressive approach

Z)  Profitability is higher in conservative approach AO

(3  Liguidity is lower in matching approach H

(4)  Profitability is higher in aggressive approach
r-naﬁfmqnaﬁavm?ﬁwmtmfaﬁa;muﬁm%? o

(1)  AFEE I Y T T u’j
(2) By 39rs § T serar (N
(@) @ 39 e e g Q0

(4)/{ HABFIH SUITH H FITEe Ieaey &

y A & ! : | R U WEre e i
Arrange the following financial institutions according to the order in which they were established.

IB;

e,



115. Arrange the

fullnwing steps of the Proce

A Set y 58 of hypg o '
3 : up null and alternative I“"P“iiuu;,‘_ l.{l othesis I-.-_-;tm,;m the proper sequence. g E/
L. Select statistics Establish the decision rule s A ) "
E. Perform computat; D. Select the | : !
Omputation and draw 4 conclusi - e level of significance
o - A B * -USion
it Shem F ufimg ¥ fn

e et st ) 3fg

A AR SHfe SR ) sy B

: T =D, st ¥ s

E e e AR s fmeen (U0 - g/
=

Choose the correct answer from the

ATHH o =raftem =1
feotey Forarm 5y TR

Ophonsgiven below : 57

#ﬁfﬁ'@wﬁmﬁﬁﬁﬂﬁwﬂvmﬂ"ﬁq

1) AD,CBE ) DACER @ -
() A,DCB,}I (2 DA <I‘z\'ﬂ \/g};/|_>,;\,c_,n,r 4) CDABE

i fmk‘ of the following Provident Fund is set up under the Provident Fund Act 19257 R :\J

(1) Statutory Provident Fund (2)  Reebgnised Provident Fund

@) Unrecognised Provident Fund ; Public Provident Fund

wfersy e s 1925 % siwta Frafafas 3§ § sn-ot ufas fifl o S i

1) SR vfes i @)  HEEEE e iy

@) TR-mrm o viEsy fAfy () = ufEs G p r
117. Arrange the provisions section wise undpntii‘e Companies Act, 2013 in ascending order. /l

A Prospectus B. ' poration of company (2 Articles é

D. Formationof company E. Semyice of Documents g

ST STafEE, 2013 % SaTa ITEHl F THSER SR w6 H§ ate F1 2

D. Al @ A E s i S/ g

Choose the correct answer from the options given below : E ﬁ

=3 fau 7o faedi § | W 3T H =TT I :

(1) B.ACDE 2 EGBDA 3 D.GBEA 4 ABCDE OO

O L
i steps of Fi ial Accounting,

118. Arrange in proper sequence the steps of Financia ; ; :

a (?Summ Arisation B. Identif i.calion and measures of financial transaction

G Classification Recording

E Interpretation of result

ety 2 ﬁ%ﬁﬂhﬂaﬁa mqﬂ]’ﬁﬁ@ﬂﬂ_aﬁ ; : A

o NJp  fosita omce o famise Sfit gesid ¢
A ER-HEAAAE R AT ' - A
i lp, EsmfER D
C FMEL ¢ {:"? ‘7
g ufiom & e ‘@ )) e
s opHONS § elow
Choose the correct answer from the options f-;lVEn
S o 7 Fepeprdl H A T T F *‘;”f‘q & oA @ BDACE
o ) CBDiARs i 8 ARG
1 GCBA, E.D i
a5




119_ A Particylay b quict, its price, the methods of promoting it and the ways to make th(‘-_.
combination of product, 1t ]

available ¢ customer is :

Mark Marketing (3)  Marketing mix (4) Md:rkﬂscgmfmﬂtﬁ TN
mm“;;‘w O o e, it e 3 P e s ) 9T T A A P
TR, T 4,
L
1)  wwm @) T @) o o (@) IR v

120. who held that both demand and supply were equally im;mﬂ.m_l in determining the price of the Produg,
- de i £ 1) 1 2

ins i aynies (4) Marshall
<5 1) P 2)  Robbins : (3) J EHL%EI(_}; y
{ mﬁwﬂﬁww-mé%wﬁmﬂmmmﬁﬁwmuw& ’
1 (2 U&= 3) aﬂ'nq (4) TwEE

121. Whenboth Average Revenue (AR) and Marginal Revenue (MR] are in straight line shape, MR curve wil
distance between AR curve and Y-axis in the : ’

/ () Middle \_@/ Near to beginning

(3) Neartoend @) Wil no{cuta‘nywhf.-re

T SHHa T (AR) S HHIG T (MR) 1 11 3@ 3 SR | €1 € §f MR 95, AR 356 S Y-aw
el Wia=sfea Hom ?

(m w=A @ YEE F gy

@) A% g @ FE ity 7 wom

—

/

122. Which is not a key element of consumer psychology and pr;qng ?

=
(1)  Reference price (2)  Price indifference band ~
(3)  Image pricing (4) Pricing Cuds
FH-H1 I9NH AT S G T o T2
(1) wfem @ T SN ¥
@) fHETs (4) T
123. Match List - with List- 1.
List-I List- 1T
Name of Theories Propounder/Author
A Theory of comparative Advantage L Michael Porter
B. Theory of competitive Advantage IL David Ricardo
C  The Purchasing Power Parity Theory I Adam Smith
D

- Theoryof Absolute Advantage  — IV, Gustav Cassel
Tt - 1% g gyelt - 11 6 o G £y

Tt -1
fagia =
A TEIHE T % fagh L. #
B, frend e w1 fagia L s R
C 4 v g fazia m sy e
D. ol =y %1 fggia IV. I SR
Choose the correct answer from the options given below ;
Wft‘lﬂqﬁmﬁﬁn&mmmaﬁm:
(1)  A-LBIILCIV, D A-IL B-I, C-IV, DI
(3) A-LBIILCIV,D1I (49  A-ILBLCIH, DIV

4 36



124.

125.

126.

127.

128.

.

Which of the folluwing i5/are correct for f
orm

rsons, where the

Two or more persons, where
C One person, where the

ation o i

) facom pany under section 3 of the companies Act, 2013 7
company formegd : o
the comp

A, Sevenormore pe

B. s to be a public company.
ANy is to be formed to be
company to be formed

D. Five or more persons, where the

a private company. e

18 to be one person company.

company forme

Choose the correct answer from the Options given bely
3

(1) A, Bonly @) | BC only--

distobea public company.

W //

B)  A.B,Conly (4) B,C Donly

L % fo Frerfofaa § A A o %7
a1 e =1fw, el = SR S e U A s 8

A
B. Eﬁmaﬂwwﬁa.aﬁmaﬁﬁfeﬁﬁwﬂmﬁmmg,

C U =i, el 5ord S el i 6% =i St 3

D. ﬁﬂmﬂﬁmaﬁaﬁﬁmaﬁmﬁﬁmwwﬁmmm

e feu o fasedi © 9 w@ 9 = 99 Fifau

(1) FSA,B ) FFEB,C () HEAA,B,C (@ *FF@B,CD

Which one of the following has given the Net Income approach of capital structure ?

(1) Durand Q_Walter (@) Gorden (4) Modigilani-Miller
TFrtares 3 3 fre Gt s %1 Fras g som fa #2
¢ £ 5 Tiréq @) wfEfEr-frer

H T @ T @)

“Management is the Art of getting thin gsd_i‘lne through people.” Who said this ?

(1) 'eter Drucker (2) Mary P%i;__g_gi:'Folleﬂ (3) GeorgeR.Terry (4) HanriFayol
e E % B T e BT 7% T w €2
(1) =T (2) I e R @) S s @ T EEE

“The bailment of goods as security for payment of a debt or performance of a promise” is called :
(I) Bailment (2) - Pledge (3) Pledgee (4) Pawnee
"%mmm-ﬁhﬁ# W%ﬁ%mﬁawﬁaﬁﬁwmﬁm“mmt :
1 s @ v [ @ Y @ frw

A card is drawn from a pack of playing J;rds What is the probability of drawing a king or red card ?

m&:vﬁ%ﬁaﬁwwﬁmﬁmmﬂfﬁmvﬂmmmﬁaﬁﬁmmt?
il v

2

i WU )
|5 @ ® #

\
37 (e
2

A

7
W'
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129,

130.

131

‘areer Paths as developed by Rothwell and Kazﬂn'g; -‘

are charting the C

Which of the following approaches B, _~Career Path Approach

! o Jnal: Approach . s .
: |]_::1“l-:“:t:.i_:\]-‘t.:‘..:]‘,r\: ‘,l\’,p,.,,l,t h "‘I'( Career Goal Approac h
Choose the correct answer from the options given |"’I‘_“."" H i g i ot
(1) A.B.Conly (2 v C, Donly (3) ._ I.:.L,JI}-nn ¥ » ‘ g?, e
fmz’:rr-aq 3 & 292 Fqrm A SR wrare zra 3o fas g Fftr gg it Fd @ ¢
A OTTE 99T B. M i o ik

.

C  afew g gue I
14 faw mo fasedl F § wé S 1 I AW ;
@ wEAACD @)

(1) FE0ABC @ ABCD

Arrange the following procedure of e-filing of income tax l'l:?iifljlﬁl'l proper sequence.
A, Login B. Registere (X))

kS Verification D. Downloading utility and preparing return
E e-filing Income Tax Return

fr=fefiEa ufsa =1 3faa w0 ° =Efen $1
B. TSI

A A
C TN D.  ZEferd Tees Fwem AR fed R w0

E S e Swea s & pc BT
@) =

Choose the correct answer from the options given below :

ﬁmmﬁwﬁﬁwﬁmmwﬂﬁq;

R LR @ ABCDE @ BABCE (4) B,ACDE
E %=

Which of the following Statements are correct about Reginnga-ijg}l ral Banks ?
A ThefirstRRB's were established on October 02, 1975 ")
B.  TheRRB's Actof 1976 is applicable. oo
C  The minimum paid up capital of RRB's is 10 crores.
D.  TheService of RRB's are notavaila ble in the state of Goa and Sikkim
E RRB'sare owned by Central Gov )
o e en overnment, State governments and the Sponsorer bank in the proportion
Choose the correct answer from the options given below :
{-1 ) AB.C Dohly (3) B,C,D,Eonly (3)  A,B,D,Eonly 4 A.CD,Eon!
3 i [ y : ¥, '] r L0 i
mmﬂﬁﬁwﬁﬁﬁrﬁiﬁgﬁﬁafm-ﬁww%?& = ;
A T ARETET 2 ST, 1975 % T e e ';.%
y e r
B anawdt afufm 1976, SR AT # | ;C:_ﬁ'.
C  amard %] 75w g fft 10 F s N\l
D. mmmmrhm:ﬂnﬁmwmﬁmﬁﬁﬂ.@
E  anamE 5 ¥ : i
i Lﬁﬁamwmﬂ,wwﬂ#nmﬁﬁm%mm: 50%, 15% 3 35% ¥ suad
mmr_fawﬁnnwﬂmamwaﬁhq: QO

) FWABCD () #mBCDE () FAABDE (4) ¥THACDE

38
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132, Match List - I with List - 11,

il List- 11
y llfl'edluchﬂ-n Related
g ;";EOTI *El.'l I.:!DF:! L Deduction in respect of Contribution given by com panies to political party
: FeCian o) l : I Deduction in respect of rent paid
C Section 80 GG L Deduction for Interest patid on loan taken for pursuing higher education
D.  Section80 GG B IV, Peguction in respect of Medical treatment
TR - 1% Wy gt - 1 v Wi NI
et -1 ﬁi I
Herdat i
A YRISODDB L BN e TE ) fay e v % Hey F wER
B. HWSOE 1L B e o e
C  UWS0GG . Wﬁmmm%mmmwmmﬁﬂﬂ“ﬁ'
D. YWMS0GGE Iv. e svem & gey # w2
Choose the correct answer from the options given below :
= Ru T fawedl o & vl I % w5 wifwe
(1) AJBILCIIL DIV @)  AILBILCL DIV
3) AJIV,BOLCI, DI (4) A-ILBIV,CI,D-I

133. Bank overdraft payable on demand should be treated as cash and cash equivalent according to which one of the

following Accounting 'Rtandard 3
{1) AS-3(Revised) Ind - A&S @) Ind-AS-107 (4 Ind-AS-18
Tﬁi%q@‘ﬂﬁﬂnm % a0 34 A sEvee W AT o T Tee A e =it 2

(1) AS-3(F9f¥E) () Ind- As,% @) Ind-AS-107 (4 Ind-AS-18
™)
134. Match List- I with List-IL Tl
Lisi-1 (O List-TI
Contents/Provisions o= Discussion/Provision in chapters
under the Central Goods C?:'
& Services Tax Act, 2017
A Levy and collection of Tax L Chapter-VI
B. Registration L Chapter- 11T
c Input Tax credit I Chapter-X
D.  PaymentofTax IV.  Chapter-V
g1 - 1% T gt - 11 =1 e Fifao
gt -1 T - 11 i
=g are sﬁtﬁmmaﬂzﬁﬂw sreaTat ® e/ wEa =
2017 % e 2aEY _ PrS
A AT AR HEA CJ'] I #EE-VI ‘g, TL
B. 9 N 1 svEmom )
C PRI HEE *3 0 #-X C
D. # Uz V. SHH-V
Choose the correct answer from the opm given below : b
4 fau 1y fagedl | @ Wl T9 F AGA B ; s
- 11, B-L G-I DIV (2) ALBLCIV,I
(1) s (4)  AAV,BI,CHL D /

y AL B-II, C-IV, DI
| 39
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2

jate which ope

o evalt
i F RN alhotra to
, 1993 under the L'ildilTlM!lwlU'" of RN M
o 1

135. A committee was set-uf “
e i
Ao w5 Gmall-Scale Industry

(1) Banking ndustry 2) X
) . (4) [nsurance Industry i

w‘-.:rfq;?[ T o
-+ 5 ¥ forg 1993 H ST ARl gpered H W

(2 w9 Fem
(ay e SE

(3).- _~Mutual Fund Industry

.;;_,/
Frferfaa o | R 2 IE

() AR am

@) 1.;-—'-\,.\ WU
" & _h il ,__"; Wihich one of the following 1s the \"ﬂuu_': .
136. If two regression co-efficient are byx = o ¢ d b 71 | \‘
i !
correlation ? oy N
= ' aiar 34
; 6 o 3 as et B Y A G HEEET P H R
Tfe 2 FEISE HEOE byx = 5 HTbxy = —— # # FeAfefEd 5 9 &I T _ ‘_‘
i y ;
: —2857 - »
@ 2857 @) =.5345 @ 5345 ) 3 /
/ ey
: .
137. Match List - I'with List-II. e
List -1 {Methods of risk analysis) List - 11 (Meaning) ; "{q‘ L
A Sensitivity Analysis I A computer generates a very large number of sSCeNarious accordy i 3 ‘
to the probability distribution of varable. N"
B. Scenario Analysis 1L Provide a way to’ pmnmt different posaxbllities so that we can}
sure that decisionl we-make today. . \
C.  Simulation Analysis .  Analysingthe pnwdle"\f (OrIRR)fora given change one v arid TVE 5
ata bime. s
D. Decision Tree Analysis IV. Analysingthe pruiectN oV (IRR) for a given change in combinate
of variable. .

T - 15 T gt - 11 e =it :
== - 1 Fifes favemor =t fifd ) w11 () _ i

A HEAwEA favemw i & Wl 12 o = S HE T o :
L mm%mmmmmmnﬁmﬁﬁmﬁ
G|
B HfgEa favemm n fafesd 7 I FIT >
HHIEA W54 A 1 ifd Wer F5 & 01 gd Fima a5
ﬁmﬁnﬂa%ﬂlmﬁ .
C 77 favdum 4
FTa L. ﬁzﬁimmfwﬁ“grﬂmﬁq
% fora afEsm %
i g NPV (FNIRR) % S
D, fit gy favm :
W W*Wﬂmﬁﬂmxwﬁu}w s
Choo-.w the correct answer from the options given below : L \ p SRR 3
Wﬁmﬁwnﬁmmwﬁﬁq; (Y
ALBILCAIL, DAY . ' 9
4 2) A-lV,H—Ill,%-;D.n L

(3 AnLB. .
r fV, C H, D-1 (‘l} A‘[[L B‘—wr C'l.r l—)'u
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138.

Match List-| with List - I1.

List- |
Theorem
A i
Theorem of Addition L
B.
Theorem of M ultiplication I
C =4
y - Condina] probability .
D.  Bayes Theorem v
@%-ltmw-nmﬁmqaﬁfm :
-1
Wy
A Arfwim L
O R B
C  wiaea fagia I,
D. ﬂﬁl Tir IV.

Choose the correct answer from the options given below :

5= fou 7o fasredl § | [ 39 #1950 S

(1)  A-ILBIV,CL DI
(@) AJIILBIV,CII, D

List- 11
Formula
P (Hi/E) = I}_{_HIF'E_)
P (E)
P (E,/E E d:ﬁ}" E3)
/B ) = —fect—2-
cHY /L E
P(Ey U Ep) =P B0 P (E;)~
Py N Ey) =P (Enk P () <) =
Ll :
@) re
-1 r
gl
r P (HinE)
P(Hi/E) = ———*
/R P (E)
P IE; miEy

450:3))
B

P(E; U E)) = P@? P (E;)

P(E;  Ep)=P )y P (Es)

=]

e

@ A1V, &b

()  AJV,BJ,CIL DI

oes not include :

139. The mostpopular forms of adver{ﬁ?j
(I) Informational appeals (2) Television advertising
(3) Printadvertising (4)  Online advertising
foaoA & Had yafom w9 H "t W@ 82 o
(1) g (2) eiifasH ﬁilﬁ{
i 4) AR
@ fizfamm (4) ™
e frcigmies :
140. Who has given a new school of thought known as the ‘Principteeq,f“Mnna gement’ or the 'Management Process
" School' 7 < oy _
(1)  Mary Parker Follett (2) HanriFayol (3 ulick (4) Peter Drucker
W‘ﬁm%mﬁ'm‘ﬁiﬂuﬁmm'ﬁwﬁﬁhﬁ el ferem e WaE ¥ 2
g B i 3 o T @) HEE
 HAuE AL (2) & @
41 008




jecision making process
The Company will "-Lu
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1 No. 141 to 145,
prings order i and methods I €
& classificationt emerges

tn1mr11w:~ I'he benefits

1l answer questior
ynce inak mpany
That is the § soal and rol
s and dislikes of a few

assage carefully; ar

Read the following p?
sorate GOVerns

Introduction of oty
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Al

fixves whio should
its mission, vision and no
difficult to guantify inshort range
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sorformance of

rm gains but they arenotlong term policies ¢,
SARNCE policies give investoy,

.1Ln[t1|k\|1.\;.§lk\t1{4!
and the gove

Accounting jugslery and
- 5
financial credibility, True financ inl A company, Opennes

conhidence.
1 be exposed by ddlmnng

P uu wil
ynerations givento direc e

irector of & LUiT‘
e reill

nagement by CEO or d
oW thtouuLewu

The unethical policies or misma
rate governance will thr

corporate governance principles. Corpo
or CEOs: Ttimproves investor confidence and relations.

15 and mismanagementcan be detecte
governance

;ﬂdng is hin d(.*l'ed

d early fORL n,mmh al actions. 1£35 also agreed thatp,

i «1pen de mouufll- system They may appey,

The occurrence of frauc
The risk of fraud 15 much bigger ang

syshem can remove fraudulent practices fully. Corporate

long winded or time consuming or individual decision m

damage to a company

ﬁmﬁqﬁaﬂmmmmmﬁmw%aﬁq ' :
Feer mﬁhﬁa-ﬁ?ﬁ?ﬂvﬂ_m%fmm

fepdl el | ""—'wﬂ?TFI!"UIFWHFTUTHT{‘Jﬁ—”JTﬂ
I T HW | €T S L Lf“?fwmaﬂzzqammmﬁwﬁfmﬁ’rfw i e O S 2w,
FeA e

EpERERE] ﬁ’f‘“’fﬁivima—%'aM|mqu;mnﬁ serater # O R
:amm?mmunmnwwﬁmmﬁmmﬁm "Tﬁﬁﬁmﬂf‘qaqﬂwaﬁ"m

St A £ | et o I A e e, mﬁnﬁwﬁmmﬂmw*ﬁﬂ
meﬂﬁmﬁmmmmmm%@%mmWﬂmmmmﬂmw

mmﬁﬂmaﬁwﬁwﬂmmmmmﬂﬁmm;qﬁaf&mmmm | % TR i o

W“T\:‘E:ﬂq"ﬁrl

siraerdl €1 SR AR ) G DA Y
o1 'W‘Twwma@mmmmmwﬁmmm W
= T Wﬁﬂﬂﬁﬂm%maﬁﬁrﬁmﬂmmﬂmﬁnﬁmﬁ

5

1 ing ;

41. According to the passage, what is the benefit of adhering to cmporate governa.n-.u_ for investors 7
1 ,-':\SSI.I_I'II(_‘LT return on investments (2) Gamon hqmdalwn

2 onfidence in true financial performance  (4)  Insider information

T 5 R e A T S R e e &2
(1) oy e e e L T e e

142. How does cor / alpi
[ porate governance help in exposing unethic icies i
(1) By c_ompet'mg with large sized compzﬁiesg '“eju“‘-al policies or dlsmana g RS e SR
(2) By fixing responsibilities and promoting openness .
(3) By focusing on short-terni gains KJI‘L‘
(4) By promoting single-entry system I~
Fredfrz Ao foa S A fam v m%ﬁmmm‘@mmﬁmm
(1) faemer smeR F) dufE @ gfeet Fe6 LO b
@ et a9 eEn T a0
/ i R AL
(4)  UFE-FAV YU 1 A 2 2

‘L_-




143.

144

145.

Whatis op,
e of the advantages of corporate BOvernance mentipned in the passa ge?

(1)  Fix ing-up excessive

TeMunerations for directors g nd CEQs
- : ek
(2) Discoy raging individyal decision making
(3) Promoting interns tional accounting practices

4) ]mproving investor's confidence and relations/

@ e F A st gum

How does the passage describe corporate governance as a system ?

(1) Time consuming and ineffective

@& -1 liding the risk of fraud

)  Anopen democratic system with some drawbacks o

(4)  Perfectly capable of removing fraudulent practices .
mWw%mﬁWmemmmam%?
(1) F93-@ffen siy smur D

@) SEEE % T w g A

() T B % e ww et ity
(4) ST - st g § gt qam

What is one of the primary goals of in troducing corporate governance ina company ?
(1)  Maximizing short-term gains

(2)  Bringing order and method to decision making =

(3)  Window dressing of financial statements

(4) Implementing IFRS in accounting system 6

Foeh s 4 it e g 2 s s e

(1) sty e # s F ;:
(2) fota fomtor 21 wafiors s fafvq e LD
¢ fad o0

(@)  EiEa ot 5 [FRS %1 fFaraaT &

4 008
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: sibiliti
our rcs|.mﬂ-"'*- - he » ey > doine : |
it of Hhe ! ! yw they are doin
irector o doing and ho Bit .
Pg{:pli’

passage carefullyand a

. llowing
Read the following asy to dodge

. riohily said that “Itis e ormer d
I  Josiah Charles Stamip Igi.ﬂ[]-l:;:{ll:l‘f“‘“ =
) » mindful bati :
nired to be ming . Fit g e

: . lity of proc C
endent on the qua Ty : e :
i.;qw,-.onvirl“i""‘*"‘t*md““""" T udge over their competitors {nfnn“"d_—
B e ompanies integrate their Socia]

f what th‘.Vf'{-lrr.U'.:l' i buton the overall im Pags.
) t
they are offering

our rg‘spﬂll\;l bilities. o ¥
world, businesses are req
company's brand is notjust “T'?IP i
the company’s operations ;_m i bility provides them W ith a cor e
e sacial responsi 3 EEL rhereby s ie O
Their s¢ “"‘_"Pf}m"“ Tm“ { integrated management concept Whe » Bottom Line f\}’}_’mﬁfh- Le. Comp,,
e R hnm:lh-ttlml l‘ll"-i}l‘wq-i objectivies(_Jt works on d Inpltf 45 stakeholders. The rnﬂ]rml'\'nEEluh(Lr
i - hves with their bus 56 M . e tians of its 5t2 ALE: y
i lrf.\nni(__[ltl‘l-t‘l.‘lﬂ i l‘ . Profit while addressing ail the \PL"\If_{-If.IUI'i'v.‘- Lo noverty and human d‘-PTWdh‘n‘:
focuses on 3P’s; People, Planet & Iiectives of bqiiil opportunities, minimizt EP .
ks ' 8 0 - 28 -
initiatives in the country are driven by the 89 v | -l.lﬁu!nr:human development. . Ll
focus on fundamental rights, efc thereby leading to s B 5 influence our future gcm‘l‘ﬂll(‘nﬁ- Despite al] thy
The choices that we make today will be H“i“!’nﬁti"’ﬂf[‘:u and o llu 1:-n(ec| riew CSR guidelines. 'l']':e-_‘;e-guid'alj-r‘E
inequality and disparily still exists. This year, the I"diﬂnm-?-"':mm{_‘_'l[ LM (;[.]1 is the first country in the world to rnake(‘\}
require Indian companies to spend 2 percent of their nef grofiton CSR. Inc It e aing the corporate sectoring,
mandatory. Including the CSR mandate in Companieszact, 2013158 grees S:‘JF; 2 percent of profits towards CSR angy,
equitable t-&'\-'olc!pnu'nt of the country. Earlier -.‘umpaniﬁﬁmqe requ ired tospence 2 1dment, companies are req“i“-‘dt,
case of failure to do so; they were required to give reasons. Butas per the Pr_'-’-‘;'i'"t amernc o tl'lis amount of profits i
spend 2 percent of profils towards CSR in the given time limit or are required to turn OV
funds which are run by the government. fet
’ 2 i ) - = e »r CSE guidelinesto s
The new amendment will require all the companies which qua_hf}' the ]?rm« iSi gr}fls_und; ese.};cgh o mad!:ﬁ
the specified part of their profits towards Corporate Social Responsibility without failing. Res e Ftors diin (g
attempt to study Issues and Challenges associated with CSR in India and also to determine variou : g
practices in Indian Companies.
Pt s o2 31T Uvs 146 ¥ 150 1 397 STAT2,
LA z " < a7 |
A S 37s Hi g4 faes SfesT wed =i9880-1941 2R T e T £ R ¢ SRl A 6 Al S
T r 5 ~ ]
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4 e
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B 147.

- What 4 the

CcO r‘[g(.\‘! ue

nce for comp
amendmeny

(1) They
@)

(3) Tho Coimn P

anies that fail to meet CSR spending requirements as per the new

ace no Tépercussiong

They must Provide reasons fop their failype

anies operations may be

H)_,_’—T]w_\' Arerequired to tyen over the

Resoae b & s ne s IqEa g2
WWT'HEF-WTMWIW TR 1 g 3503 3 {r e e A st w1 e aftom sy Ted 8
M) =R 9 wfrger wfiomm T T e

-

2) R A e HIRN W ) i 6 g
©) wmmﬁiiﬁfﬁ‘{ﬁﬁﬁfmwﬁahﬂ@mh
(4) T HER-Yaifem vy o ik Tig'r:g‘.:aﬁrfrd HAT E.':Tr"f!%i

Xy

closed for a specific period

profits to Bovernment-run funds

B

i i 2 s Gt 's quote ?
According to the Passage, what is the main pointemphasized by Josiah Charles St Aamp’s

& i i i ir responsibilities.
: Companies cannot avoid the consequences of neglecting their respon:
2)  Companies must be careful about corporate governance.
-
3)  Social responsibility has no impact on a com pany’s brand.

4) The consequences of dodging responsibilities are immediate.

Iy

mammmmmmmmﬁmq@ﬁ:ﬁtwﬁmw%?
(1) Wwﬁmﬁzﬁaﬂmﬁ@%uﬁmﬁaﬁﬁ:ﬁﬁﬁa

@ ﬁﬁﬁﬁﬁnﬁﬁzm%aﬁﬁmmmm T

@) mﬁmﬁtﬁammﬁﬁmmmnwaﬁﬁfﬁ%
() IR & 7= 4 % afom aeem e E N

®®)

: lﬂyi d the Indian Government implement with regards to CSR ?

Mandatory 2% spending of net profiton CSR
(2)  Voluntary CSR guidelines
(3) Tax incentives for CSR activities
#)  Nospecific CSR requirements ? Qf:}
i ST
CSR & Ha9 3 vwefia 9an 3 7 Fwifag e &7 h
(1) Fam 7 = 2% 1f SfrEE w9 A Hewen T fa

N

(3) Higasw nfafatyd % fon 5 g (Y

4

(4) =¥ fafore wirgmam arEvamad T

8
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149. Whatis “Triple Bottom Lin

150.

@y
A focus on shareholder int

e Approac W inCSR?
tisfacton, revenue and profit
and profit

t sustainability

prests, environmen

A focus on customer sa
and innovabion

A focus on people, planet,

M

)
(4) A focus on people, planet and plant

Hhgwa # ' fredt sy T deft ! e ¥ 7
(1) S e v ol @ T e e

@ e, gest e st w o ST SR

@) st fem, bl SO v Sty ¢ AT
@ Fﬁ‘ﬁ.qvﬁf/qgaﬂ!mwzwmm_-t :

icance of a company’s Social resp

onsibility in the modern dj

According to the passage, what is the signific
world ? {
({:J It has no impact on the company’s brand
2)  Quality of a product have no relationship with the company’s image

_ 3y Itprovides a competitive edge ina crowded market place

4) Itleads to wealth maximization
WT mwwﬁfmﬁmﬁ%mmmwm%?
6 F A€ W 39EH FTE WWE TE A8 |

@ T 3EE e w5 v F el 9 2 gEy T 2

@) FETH Mg W AR T F wfeendl FrjaeE S

(4) I% HY21 TRaHEI 1 JE Y ST
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